
1. What is the expanded form of 1654.1178? 

A. 1 × 1000 + 6 × 100 + 5 × 10 + 4 + 1 × (1/10) + 1 × (1/100) + 7 × (1/1000) + 8 × (1/10000) 

B. 1 × 1000 + 4 × 100 + 7 × 10 + 3 + 6 × (1/10) + 4 × (1/100) + 7 × (1/1000) + 9 × (1/10000) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are right! Go to next. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are wrong! Try again. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



2. What is the expanded form of 2594.2735? 

A. 2 × 1000 + 3 × 100 + 0 × 10 + 6 + 2 × (1/10) + 4 × (1/100) + 1 × (1/1000) + 9 × (1/10000) 

B. 2 × 1000 + 5 × 100 + 9 × 10 + 4 + 2 × (1/10) + 7 × (1/100) + 3 × (1/1000) + 5 × (1/10000) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are right! Go to next. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are wrong! Try again. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



3. What is the expanded form of 3528.4563? 

A. 5 × 1000 + 8 × 100 + 5 × 10 + 4 + 5 × (1/10) + 1 × (1/100) + 0 × (1/1000) + 8 × (1/10000) 

B. 3 × 1000 + 5 × 100 + 2 × 10 + 8 + 4 × (1/10) + 5 × (1/100) + 6 × (1/1000) + 3 × (1/10000) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are right! Go to next. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are wrong! Try again. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



4. What is the expanded form of 5659.9179? 

A. 5 × 1000 + 6 × 100 + 5 × 10 + 9 + 9 × (1/10) + 1 × (1/100) + 7 × (1/1000) + 9 × (1/10000)  

B. 6 × 1000 + 9 × 100 + 5 × 10 + 4 + 6 × (1/10) + 1 × (1/100) + 7 × (1/1000) + 4 × (1/10000) 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are right! Go to next. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are wrong! Try again. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



5. What is the expanded form of 7694.7158? 

A. 7 × 1000 + 6 × 100 + 2 × 10 + 4 + 7 × (1/10) + 1 × (1/100) + 7 × (1/1000) + 1 × (1/10000) 

B. 7× 1000 + 6 × 100 + 9 × 10 + 4 + 7 × (1/10) + 1 × (1/100) + 5 × (1/1000) + 8 × (1/10000) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are right!  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are wrong! Try again. 

 


